SAP ABAP table CRMT REPORT OPPORT H LDB1 {Special Structure for log DB crmdb opp mon}

CRMC_CYCLE

CRMT REPORT OPPORT H LDB1-SALESCYCLE = CRMC CYCLE-SALESCYCLE _ ___ ['CLIENT [CLNT (3)]

- SALESCYCLE [CHAR (5)]

- CRMC_OPPIMPOR

/ CLIENT [CLNT (3)]

oN .- ‘CRMT REPORT OPPORT H_LDB1-IMPORTANCE = CRMC_OPPIMPOR-IMPORTANCE 0N

IMPORTANCE [CHAR (1)]

CRMC_OPPT TYPE

CLIENT [CLNT (3)]
TYPE [CHAR (4)]

CRMC_PHASE

0..N | CLIENT [CLNT (3)]
PHASE [CHAR (3)]

CRMC_SOURCE

____________________ N | CLIENT [CLNT (3)]
SOURCE [CHAR (3)]




